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S 11,003,828
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SO ZMEZE(MISR /I ZHEZE) 17,245,153 17,414,118 A 168,965
= 13,650,074
= 1,206,190
Al 2,388,889
MNASSIZ=HEEY 17,245,153 17,414,118 A 168,965
= 13,650,074
& 1,206,190
Al 2,388,889
MASE =sHHIAF 2 AME2 W=H X 129,200 79,700 49,500
301 LutEas 129,200 79,700 49,500
01 A2EFH 0= 129,200 79,700 49,500
OMASE st X& 56,700
—nSs 200,000& = 1609H 32,000
—Ss 100,000& = 170 17,000
— =S8 70,000& * 1109¥ 7,700
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—nsSs 250,000& = 1609 40,000
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HAasE A2 HAAS 14,000 28,000 214,000
402 2IbE01M 14,000 28,000 A 14,000
01 A2 EX 14,000 28,000 A 14,000
OMASEE A2 M ALY
400,000 * 35AII CH 14,000
S ZMESZHSAHXIR () 13,324,031 16,735,963 A3,411,932
= 10,659,225
= 932,682
Al 1,732,124
301 YptsBag 13,324,031 16,570,963 A3,246,932
= 10,659,225
= 932,682
Al 1,732,124
01 A2IEFH 0= 13,324,031 16,570,963 A3,246,932
OdAH=0 275,108& = 4,0360t+ = 123 13,324,031
= 10,659,225
= 932,682
Al 1,732,124
Jlzus0=XFHEEeAS(E) 3,900 6,000 A2,100
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= 1,170
Al 2,730
01 ASIBEE 263 3,900 6,000 A2,100
I B E LI
300,008 * 139 3,900
= 1,170
Al 2,730
HASE BSHAHHIXA(C) 35,460 37,800 A2,340
= 10,633
Al 24,802
301 LHBAI 35,460 37,800 A2,340
= 10,633
Al 24,802
NIEEEERSTE 35,460 37,800 A2,340
ONASEISYALINS
30,0002 * 3042 * 3% 35,460
= 10,633
Al 24,802
SHPIEITEEEESEINETE) 3,150, 186 0 3,150, 186
= 2,520, 149
= 220,513
Al 409,524
301 LHBAS 2,985, 186 0 2,985, 186
= 2,388, 149
= 208,963
Al 383,074
NIEEEERSTE 2,985, 186 0 2,985, 186
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= 208,963
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= 1,550
Al 21,450
05 PIZteIErS 165,000 0 65,000
OFHSH2Z0 F4elAY
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= 1,550
Al 21,450
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= 32,741
Al 60,804
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= 374,179
= 32,741
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= 9,521
= 8,446
Al 15,685
301 LHBAI 120,652 0 120,652
= %, 521
= 8,446
Al 15,685
NIEEEERETE 120,652 0 120,652
O A E H SO 48260821 * 250% 120,652
= %, 521
= 8,446
Al 15,685
FHOHS XH(ASIZX/FHAHSH) 1,536,027 1,058,682 477,345
= 497,993
= 205, 101
& 107,075
Al 725,858
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= 497,993
= 205, 101
= 107,075
Al 725,858
HotH SN 9,570 91,780 4,790
201 Yer2 Y| 5,520 2,800 2,720
02 IT2YH| 5,520 2,800 2,720
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—2rRIAF 2 BAF BOINBE
150,008 * 122 1,800
OAEEH S 1,200
—2r2I Al 600,008 * 172 600
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301 LHBAI 60,000 60,000 0
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A FE=X 10
Z;_S

Mo FHOHE KR (ABSX/HAHEX)
SR ES T (=CR-E
SA-EH O (BH) - HBAY - B2 Ofl A o4 dd = HRS2
0 &+ 08
OXHA2AHS A
100,000& * 50MICH = 12& 60,000
307 QIz2to| A 31,050 28,880 2,170
01 Sl2¥ =t 26,050 23,880 2,170
(OFd=E"=1 200,000& * 507 = 12& 12,000
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& 5,076
Al 9,427
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= 205,101
Al 362,957
201 Y2yl 9,600 0 9,600
01 AtR2r2/Hl 9,600 0 9,600
OZCSOI ARA U 800,000 * 128 9,600
307 212+0| 558,458 402,106 156,352
= 205,101
Al 353,357
02 IAHPNBE 15,000 0 15,000
OZ SO 294l X 15,000,002 * 1A 15,000
05 BI2HPIEs 543,458 402,106 141,352
OMEIZX2 2HI(23) 543,458
—ANE=XE 2% 438,298,0002 * 1JHA 438,298
= 131,489
Al 306,809
—THOF=XIME 2% 105,160,0002 * 10HA 105, 160
= 73,612
Al 31,548
WHOIHE 78 2S 9,800 13,300 ~3,500
307 212+0| 9,800 13,300 ~3,500
01 A2UR2H| 9,800 13,300 £3,500
OoIel 25 9,800
— A1 3,00020 * 20KICH * 104 600
—4+X 1,0008 * 20KICH * 54 100
— it 5,00080 * 20MICH = 204 200
I 25,0002 * 20KICH * 174 500
a7 40,0002 * 20HICH * 4%t 3,200
-9z 40,0002 * 20HICH * 4% 3,200
—¥=2 150,0002 * 10740} 1,500
—MEE 5,0008 * 20KICH * 55 500
SYSDNURTIARHINA(T) 6,489 7,500 A1,011
= 1,947
Al 4,542
301 YA 6,489 7,500 A1,011
= 1,947
Al 4,542
01 ABIBEE 453 6,489 7,500 A1,011
OSYRT o2 HIXIH
24,5798 * 228 * 122 6,489
= 1,947
Al 4,542
HASE AALEHENA(T) 74,000 58,514 15,486
= 37,000
Al 37,000
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206 M=l 5,700 3,055 2,645
= 4,560
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Al 912
01 M2l 5,700 3,055 2,645
O228XE NE22AY M2
300,000 * 197K 5,700
= 4,560
[ 228
Al 912
307 QIZHOIA 1,167,565 740,520 427,045
= 934,052
[ 46,703
Al 186,810
05 RIZt9IEr3 1,167,565 740,520 427,045
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= 934,052
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=R EEETE) 68,444 78,603 A 10,159
= 54,755
= 4,791
Al 8,898
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[ 4,791
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= 54,755
= 4,791
Al 8,898
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[ 17,955
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= 119,700
[ 17,955
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OXNSGX&dH2HEI XS
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= 119,700
[ 17,955
Al 33,345
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ZOHOl SXARX 159,560
201 Lered| 7.760
01 At222lb| 7.760
OFOHANSKHEX P 800 * 115 * 2000H 1,760
OMF TN SHRIAI R A AR
500,0008! * 128 6.000
LA 16,800
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DIAAMEE 65,000
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3,000,000 * 1744 3,000
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10,000,0008! * 1§ 10,000
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OZoHel =X Al 2E X (XH)
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301 Lt Az 38,929 32,267 6,662
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OZohel o 2 HI X & 188,975%1 * 206X 38,929
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